VARDHAMAN MAHAVEER OPEN UNIVERSITY, KOTA.

No. F-2/ VMOU/ G.Ad./ Tender/ 13/ 2915

Date : 12/2/2013

DETAIL TENDER NOTICE

Sealed tenders are hereby invited on the prescribed form from approved & eligible contractors in various state Govt. / Semi Govt. works department for following work –

S.	Name of work	Estimated	Earnest	Cost	Time
No.		Cost	Money	of form	allowed
1.	Repairing work at Regional Centre Building of Bikaner.	3.12 lacs	6240.00	200/-	60 days

Earnest money in form of D.D in favour of "Vardhaman Mahaveer Open University, Kota" should be deposited along with tender form. Tender forms will be obtained by D.D. as same from the office of Director, Regional Centre, Vardhaman Mahaveer Open University, Bikaner (9/4-5, Mukta Prasad Nagar, Bikaner) during the working hours from 25/02/13 to 01/03/13 or tender forms may be downloaded from our website www.vmou.ac.in. Tender form fees for downloaded form must be attached with tender in form of D.D. Sealed tender shall be received in the office of Director, R.C. Bikaner on 02/03/2013 up to 1:00 P.M & shall be opened on same day at 3:00 P.M. Conditional tenders & tenders received with out Earnest money will not be considered & shall be rejected. The University have the rights to accept or reject any tender without assigning any reason.

Registrar

Tender Form No.....



OFFICE OF THE REGISTRAR, VARDHAMAN MAHAVEER OPEN UNIVERSITY, KOTA

Name of work :- Repairing work at Regional Centre Building of Bikaner. Cost of Tender :- Rs. 200 /-Estimated Cost :- Rs. 3.12 lacs Earnest Money :- Rs. 6240.00

Completion period :- 60 days

Date of Sale :- 25/02/2013 to 01/3/2013

Date of Receiving :- 02/02/2013 up to 1.00 pm. Issued to M/S _____

Date of Opening :- 02/02/2013 at 3.00 pm.

	<u>G - SCHEDULE</u>								
No.	Description	Qty.	Unit	Rate	Amount				
1	Precast terrazzo of approved make, 20 mm thick with marble chips of size upto 6 mm laid in floors, and landing, jointed with neat cement slurry mixed with pigment to match the shade of the tiles, including rubbing and polishing complete on 20 mm thick bed of cement sand mortar 1 : 4 Dark shade using ordinary cement.	360	Sqm.	457.00	164520.00				
2	Structural steel work riveted, bolted or welded in built up sections, trusses and farmed work, including cutting, hoisting (height upto 10 m) fixing in position and applying a priming coat of approved steel primer all complete.	150	Kg.	59.00	8850.00				
3	Providing & fixing UV stabilised fiberglass reinforced plastic sheet roofing upto any pitch including fixing with polymer coated 'J' or 'L' hooks, bolts & nuts 8 mm dia. G.I. plain/bitumen washers complete but excluding the cost of purlins, rafters, trusses etc. The sheets shall be manufactured out of 2400 TEX panel rovigs incorporating minimum 0.3% Ultra-voilet stabiliser in resin system under approximately 2400 Psi and hot cured. They shall be uniform pigmentation and thickness without air pockets and shall confoim to IS 10192 and IS 12866. The sheets shall be opaque or translucent, clear or pigmented, textured or smooth as								
	specified. 3.0 mm thick (Wt. 5.0 Kg./ Mtr. Sq.)	21	Sqm.	1355.00	28455.00				

4	Providing & fixing ms sheet single leaf door shutters in angle iron frame 35x35x5 mm suitablly				
	diagonally braced with 25 x 3 mm flat iron above				
	and below lock rail of size 50 x 5 mm beading extra includingall fittings, as per direciton of engg.				
	Incharge but excluding coat of chokhats including				
	two coats of anti corrasive red oxide primer paint.				
	M.S. sheet 18 SWG.	2.2	Sqm.	1526.00	3357.20
5	Repairs to plaster of thickness 12mm to 20mm in patches of area 2.5 sq. metres and under including				
	cutting the patch in proper shape, raking out joints				
	and preparing and plastering the surface of the				
	walls complete including disposal of rubbish to the				
	dumping ground within 50m lead : with cement mortar 1 : 4 (1 cement : 4 Fine sand)	450	<u> </u>	400.00	624.00.00
6	Distempering with oil bound washable distemper	450	Sqm.	138.00	62100.00
Ū	of approved brand and manufacture to give an				
	even shade including all scaffolding. Same Colour	615	Cam	11.00	7318.50
7	White washing with lime to give an even shade	015	Sqm.	11.90	/516.50
	including all scaffolding : Old work (one or more				
	coats) including scrapping old surface and repairing				
0	with putty wherever necessary.	300.04	Sqm.	3.40	1020.14
8	Painting with synthetic enamel paint of approved brand and manufacture to give an even shade :				
	One or more coats on old work.	200	Sqm.	26.00	5200.00
9	Providing and fixing Cushion Vinyl / fully flexible				
	Vinyl Flooring confirming to IS 3462 flooring of				
	approved make with fiber base using rubber base adhesive incl. rolling with light wooden roller. 2.0				
	mm thick sheet.	14	Sqm.	655.00	9170.00
10	Finishing wall with water proofing cement paint of				
	approved brand and manufacture and or required				
	shade to give an even shade including all scaffoling : Old work (One or more coats).	470.085	Sam	22.00	10341.87
11	Dismantling roofing including ridges, hips, valleys	470.005	Sqm.	22.00	10341.87
	and rafters etc. and stacking the within 50 meter				
	lead of : Asbestos Sheet	21	Sqm.	19.00	399.00
12	Dismantling old plaster or skirting, raking out joints and cleaning the surface for plaster incl. disposal of				
	rubbish to the dumping ground within 50 Mtr.				
	Lead.	660	Sqm.	14.00	9240.00
13	Providing gola (batta) in lime concrete using 50%				
	lime surkhi/sand mortar 1 : 2 with grit along joint of walls and terrece finished with lime mortar 1: 2				
	plaster with Gur, Gugal, methi etc. in concave				
	plaster with Gur, Gugal, methi etc. in concave shape of size : 100 mm x 100 mm	90	Mtr.	28.00	2520.00

Terms & Conditions :-

- 1- Conditional Tender shall be not accepted.
- 2- The Rates are based on P.W.D. B.S.R. 2012 Bikaner Circle w.e.f. 18/2/2012
- In case of any typographical error or mistake in print the above B.S.R. shall be binding and 3- final.

Asstt. Registrar VMOU, Kota

I / We here by agree to execute the above work at the following rate.

Rate are % above / below (in words) on "G" SCHEDULE

Rate are % above / below (in Figures) on "G" SCHEDULE

Signature of Contractor